4 PEAKTRONICS M K T-140

Actuator Controls Mounting Kit

ASSEMBLY DIAGRAM Bettis EM-810, -820, -830, -840 Actuators

»- Mount terminal strip "M" for
K [II"‘""""""'“'"‘“'"ﬂ fee(ilback pOtentiomgter only
applications.

% FEEDBACK
POT HEX NUT— TRANSMITTER

POT LOCKWASHER—— @ Note: Do not use hex nut "G"

when mounting a transmitter.

J

N

G @\ @\ termina #1 E
E
</
B g POSITIONER
FEEDBACK ] é H
POTENTIOMETER H é
O-

g
7
i

K

ACTUATOR

www.peaktronics.com
800-126C page 1

PEAKTRONICS, Inc. 1363 Anderson  Clawson, Ml 48017  Phone (248) 542-5640 FAX (248) 542-5643



MKT-140

ITEM

SrXa—IOTMMOO®>

not shown
not shown
not shown
not shown
not shown
not shown
not shown

QTY

WRRPRRRPRPRPRRPRPRPEPANRPNRWORNR

KIT CONTENTS

K L M
o o
G H | J

w
O (i
O j
m o
e

DESCRIPTION

positioner bracket

#38-32 X 0.375" pan head screw
#6-32 X 0.5" pan head screw

#6-32 X 0.375" pan head screw

#6-32 X 0.375" undercut flat head screw
#4-40 X 0.375" socket head cap screw
#6-32 hex nut

#8 split ring lockwasher

#6 split ring lockwasher

potentiometer anti-slip washer
potentiometer gear

output shaft gear

3 pin Eurostrip screw termina

4" grey wire w/butt connector

14" whitewire

14" black wire

14" red wire

10" black wire w/spade terminal

10" red wire w/spade termina

6.3" nylontiewrap

www.peaktronics.com

PEAKTRONICS, Inc.

1363 Anderson

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-126C  page 2



MKT-140

0 0
= ~ 1 NOWWOD AV 13
._w © 1NO 1INv4
o—(E)
(feuondo) ajnpo |\ Aefey/senisUeIL 00T-H1O | ® 1NO N3do xnv
(feuondo) aNpo A Jeniwsuel] QOT-X10 ® 1NO 3SO10 XNV
aNo 1VYNDIS
©) ndino v | J0}1uowW
0 ) | 4| eeapeey [—
‘Swiny g-g'0 ‘wmpnw) ¥oT-10d 000 [T TTTTTOC
Busn uaym sayo1Ivs 1wl ssedAg B10N @
d *Y1eH0] Pa13suu0d
d313INOILN3ILOd Ao AST+ 9( Ued spunois) BI0N
Movaa3a- O a0 es
70T-10d / 20T-10d
a3d © © NOT/S-0 ‘AS-T 4 leubs
puewwod | _
JLIHM © © Ywoz-v ; +
8 Movg © ® aNoS TVYNDIS
c
2(® ®© ©
‘uado pue asojo Jo uoIeIqfed M, o da3d o 5 AND H.1YVv3 Q
Burnnp s A|ea1RWOINE T 4 4
s1 Bunoe askenal 1o Bunde 19011Q m ALIHM ANIT T ;
QD
@ © Movg O, © IvdLN3AN 271
° C ar
VYO0T-OHA OVAVEC
00T-OHA JOVALTT
SIoeNPY 08- ‘0€8- ‘028- ‘0T8-IN3 shed ANVHOVIA ONIFIM

SHANOILISOd 1V1I191d OV

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-126C page 3

1363 Anderson

PEAKTRONICS, Inc.



MKT-140

"O-T( WOJ4 PaIoeuUuUosIp S MS NI

|un unJ 0} Jojow 8y} SMo|fe pue
aAnsod ¢ HOLOIN sies (A) uonng
umop 1snfpe sy} ‘spow TYNNVI Ul

‘O-TC WOJ4 PRIUUOISIP SI T MS NI

|1AUN UNJ 0} Jolow 8y} SMO|[e pue
aAnsod T HOLOI skes (V) uonng
dn 1snlpe sy ‘spow TYNNVIA Ul

‘uado pue aso[o Jo uolrIgIeDd
BuLnp s A|Ee21RWOINE
s1 Bunoe askenal 1o Bunde 19011Q

"(suin 8-G0
‘uimnnu) +0T-10d Busn usym
SeyoMIMS 1iw| ssedAg 810N

(T)
m T NOWNOD Avid
s> © 1NO 11Nv4
(luondo) ainpo N Aepy/eniusuel | per(s| TOT-H10 | £ t—oo—® A0 N3O XAv
(feuondo) ajnpo N eniwsUe. ] PIR|OS| - = —(®)
WIXL0 | < e~ —Tre =00 xav Jonow
-G () vwoz-v | oweapesy [
---------.+..@.- (+) vwoz-v
duis jeuiwsel Jorenide
ZMS W[ /aN]
a3y ﬂm\ a3d @
TMS WIT| /5N
W»v_._m_ @ Movid O, © 1NO NS+
T %Umﬁww_oh @ reubs
z° g Movg NO) (+) ANVININOD 4| puewiwod [_— ¢
© Z MS 3NdHOL
@ "
S) ® (-) aNVININOD ¢
MOv19g 10 a3y ¢ 4010 @ E
A 4 ® AND H14v3 1]/
a3y 1o Movd AdD T HO1ON @
3 93N Lvd /
3 ® 1=
m ——
Im388 Mov1d =
=S Anin. © =
m S m 5 JLIHM +
0
mx &N T T
w a3y © © SOd 1vd A2
J0109uu00 NN = [X] 2 cr
00r-OHd

SI0eNPY O¥8- ‘0€8- ‘0¢8- ‘0T8-INT sieg

d3INOILISOd 1VL1I91d Od

NVHOVIA ONIFIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(]
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-126C page 4

1363 Anderson

PEAKTRONICS, Inc.



MKT-140

ONILOV ISHIAN3IY

ONILOV 10341d

uolow Joreniae

d313WOILN31Od

uoljow Jorenide

Yyuwioe Ywioe

d313WOILN31Od

»oveaa3ad »ovaasad
¢01-10d ¢0T-10d
»ovg a3y
3LIHM 3LIHM
8 a3y 8 »ovg
c c
g 51
3|© »ov1g 3|©® a3y
g g
3O 3LIHM 3@ 3LIHM
> >
Q (R
@a © a3y @ © »ovg
S S

(feuondo) “Jeniwsuel) a1im 0}
HILLINSNYYL | SB4IM C0T-10d SS90%8 &8
Movaa3ad
NOT/G-0 90T-VIANX
AGL M — + YWOZ-¥ SOT-VIANX
D1%]%1%]%]
Jojuow
ALIHM +| dreapsey | —
Movid a3y
® ndino Apz+
© indino AOT+
© © AOT0 1 pubs
NS © || puewwoo [ B
VYWozZ-v / AS-T
® ® aNo 1YNOIS
© 1 ave hirava Q
© © ANIT T ;
© © IvdLNaN 21
c &€

HTOT-Od1 / d101-04d71/ JT0T-ONV DVAVEC
OT0T-04d71/ VIOT-O4d1/ VIOT-OWV DVALIT

SJoendy Or8-

‘0€8- ‘0¢8- ‘0T8-IN3 sieg

SHANOILISOd 31Vd 9071/ 90 1VNY OV

NVHOVIA ONIFIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(]
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-126C page 5

1363 Anderson

PEAKTRONICS, Inc.



MKT-140

ONILOV ISHINIA

d313NOILN31Od
Movaa33d

¢0T-10d

Movd

JLIHM

a3y

uoniow Jorenjie

N3dO

MOov4g

JLIHM

a3d

dus euiwse) lorenide
©® Q0 Q

(luondo) ;oNIWSUR.I} 1M 0}
ONILOV 1O3HId MEALLINSNYaL | S4IM 20T-10d S590%8 a8
Movaa3a-
NOT/G0 90T-VINX
Y31INOILNILOd NSLM — YWz SOT-VINX
Yovaa3a4 21%1%1%]%]
¢0T-10d Jojuow
d3d +| “%eqpssy [—
3LIHM a3d
MOovg
Movd
] ndino Avz+
aNo 1VYNDIS
tohot foenioe (01 2v/2Q) N3O |
(01 2ov/0Q) IS0T10 sreubs
l_l |0.JJU02D —

N3dO

(IH V) N3do

(IHOV) 3SO10 -

NOWINOD N3dO

NOWWOD 3SOT10 ~

S0 006006006 Q O

8

[

3 _
Q @ d3d @ adND H1dVv3
o}

3 @ J1IHM @ ANITT1
=)

QD

$ @ MOvld @ AvdLlNaN 21 -
© r

VEOT-INVY DVAPES
E0T-INV OVALIT

SI0eNPY O¥8- ‘0€8- ‘0¢8- ‘0T8-INT sieg

Sd3110d1NOD 440/NO OV

NVHOVIA ONIFIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(]
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-126C  page 6

1363 Anderson

PEAKTRONICS, Inc.



MKT-140

ONILOV ISHIAN3IY

d313WOILN3LOd
MOovad33ad

¢0T-10d

Mov4

JLIHM

a3y

uolnow Jorenide

NOT / NG | YWOC

“JeNIWSUR] 31IM 0]
H3LLINSNVHL | sanm g0T-10d SS90%0 asN
ONILOV 103dI1d OYEd3a
NOT/S-0 90T-VINX
Y313WOILNILOd rsLm o= _ + Vwoc-v SOT-VINX
Sovaa3aH 21%1%1%]%)
¢0T-10d Joruouwl
a3y +| ~oeqpsey [—
JLIHM a3d
Aovd
Movd
uonow Joenioe ® indino Avz+
)
®
®
AOT | AS | YWOZ
® () ano
@ aND H1dvd 14
© ANITTT ;
@ IVdLN3AN 271
a

VZ0T-dMd DV AYEC
c0T-dMd OVALTT

SI0eNPY O¥8- ‘0€8- ‘0¢8- ‘0T8-INT sieg

(poemod) SHI1 1 INSNVH1L MDvda33ad

NVHOVIA ONIFIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-126C page 7

1363 Anderson

PEAKTRONICS, Inc.



MKT-140

ONILOV ISHINIA

d313NOILN31Od
Movaad3d

¢0T-10d

Mov4

ALIHM

a3d

uoljow Jorenide

NOT / AS / YWOC

*RIWISURI] 31IM 0]

31 1IANSNVYHL | salim 20T-10d SS9axe asn
ONILOV 1034d1d SOvYaa3ad
NOT/G-0 90T-VINX
Y3L1IWOILNILOd NSL M — + YWOZ-v SOT-VINX
S0ovaa3a- 21%1%%]%)
20T-10d (xew Azg)
a3y + Addns g T=
JLIHM °
Movg
Joyjiuow
+ | deapsey [ —

uolnow Jorenide

NOT / NS | YWOZ

SI0eNPY O¥8- ‘0€8- ‘0¢8- ‘0T8-INT sieg

(posomod Ajreuor®) SHIL1IINSNVYHL MOvaa3ad

NVHOVIA ONIFIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-126C page 8

1363 Anderson

PEAKTRONICS, Inc.



MKT-140

L0T-VINX
Y3 LLINSNVYYL

ONILOV ISHIANTS ONILOV 1034d1d OYaaaa4

H3L1INOILNILOd H313NOILNILOd ¥ HM T8/ +
S0OvaaIaH SIOvaaIaH 2)%1%, -
MOv1d a3y +| Addns oa [— 4
C
ILIAM =TI 2
Jojiuow w
a3y MOovg + | dwoegpee) [— &

uolow Joreniae

vwioe

uonow Jorenioe

Ywioe

800-126C  page 9

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

1363 Anderson

SJOENPY Or8- ‘08- ‘0¢8- ‘0T8-W3 sheg
(peJsomod doof) Y31 1 INSNVH L MDOvaa33d

NVHOVIA ONIFIM

PEAKTRONICS, Inc.



MKT-140

uoljow Jorenide

ONILOV 10341d

N3dO

w
@ -. e
) a3y > 3
Y313WOILNILO @ m 8
MovaaIa I ILIHM = <
QD Pud
MoV d ®© a 8
d .

uonow Joreniie

ONILOV 3ISH3ANIY

N3dO

page 10

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-126C

1363 Anderson

TIT-10d SWYO Mg
ZIT-10d Swyo Hz
20T-10d Swyo NI

SI0eNPY O¥8- ‘0€8- ‘0¢8- ‘0T8-INT sieg ANVHOVIA ONIFIM

SHd414WOILN31LOd MOVvddddd

PEAKTRONICS, Inc.



